
W..Ll1 J..o..L:I-1~
. .;{;,.t, O) I~'~ - ~ ,

L.a;.-1JiJ'~,

. ~L-.o ~~* ~) wJW t~ y.--ow:-oi: ~~

4~~\ ~tWl ~jYJ~) c.W~\~ ~L-.o

: 4\;;\\ ll.: '11t ~ : ~Ji

. ~~~I ajL1J\~ tJ d.)W\4d yiJl J~\ uL.,...) 0)).;4> , u~LlI ~Iy. c.r-! - \

. u\-4-WIo..u,e::P}.1Ld~~ r-' )i c: ~~ c.r-! . J') ~I J ul-4W\ uL.,...) ~\ =:. - "
. 1~.I\.1..,..:..'~ i ~1 I All L::>-') b:-')\'"",.b:-G- 0\ ~ -JI W:>..ll -LOUI C "\) ~:u. - 1U- '-:? U""'Y')-). v,,-. .' l? J- J"",

.1..,..:.tJ ~.;.:J\ 4d yiJl .1y,J>d.b\ ,. ~! . )}dl ,=P\.:.-\~ .1..,..:. tJ 4d yiJ\ .1~ -4~ r..'::!~ ~~ ~ J.h...,1y.C.r-! - i

. ):>~I J)l:J1 jAJl

--

)lA.. '?P 0 .J):> (.}"W\.y t.~ ):>~I J~.1..,..:. J.h...,1y.(.£10;. "/\,, o)~ J-~ ul~ ):>~I 4~ ~~ft5" ol..::..:...

oUI Jlj:>i ~ 4dyiJi ~ . ?p/iJ\ "1 ?~~ ...l>-I}I~}I d.k.\.A.,.)?p!r)1 ,,\\ ?~~ ...l>-I}I~}I

: J< L<~i . ft-'i".. ).=;oD ~ ~ ~\ 0:!.hJj P \. (Jy}l)

. ( ( ~WI ) ~\50) ')\) ;;JI,JI) o.?'LbJ\) oL:..JJ ;;.,")l:JIul)..tAJ1~ - \

. .kL1~I-l,~ 4d yiJ\- "

. ( ( 4...LYWI ) \50 ')1) ;;JI ,JI) o~LbJI ) .k.;LI ;;"I...l>~ ~)l:J\ u\ ..tAJi4 j - 1-- -) ,r - . )_

. jiJl .1..,..:.~y ./' - i



,

W..ul~~1 ~
. .;1;, .t 1 O)I~t~ ~ ~ ~

L..a;.-LQJI~ \

~~'jl 0)ljJ ~...u~~, ~ .p. .,Ij\.dJol)y

. ~L-..o ~~~ ~ J WJW t~y-.o w:-oi : ~~

~~~\ ;ij1.kJ1~jy J Jii J ~ W'jt ~ ~L-..o

A - Repondre aux Questions suivantes :

I - Expliquer itI'aide d'un calcul, la necessite et I'avantage du transport de I'energie e!ectrique en
haute tension? .

2-Caracteristiques et avantages des canalisations souterraines, expliquer en detail avec schema trois modes de
pose de canalisations.

3-Quelles sont les considerationsdont on doit tenir compte dans Ie choix des conducteurs d'une ligne de
transport aerienne ? Expliquer.

4 - Expliquer it I'aide d'un diagramme, comment on determine la chute de tension d'une ligne de
transport monophasee. En Deduire !'expression approchee de la chute de tension en triphasee.

B - Probleme :

Une installation electrique triphasee dont Ie facteur de puissance est 0,82 est alimentee par une

lignede longueur5 Km faites de fils de cuivredont laresistanceki!ometriqued'un conducteurest
de 0, II Q/Km. La reactance inductive kilometrique d'un conducteur est de 0,3 Q/Km. On veut avoir
it I'arrivee une tension entre phase de 10 KV lorsque I'intensite du courant est de 200 A. Calculer:

I) La puissance apparente, active et reactive it I'arrivee de la charge.
2) La tension au depart de la ligne.
3) La puissance apparente, active et reactive it transporter.
4) Le rendement de la ligne.

A - Answer the followin2: Questions:

I - Explain with the help of calculation, the necessity and the advantages of the high voltage in
power distribution.

2 -Characteristics and advantages of under ground canalization, explain in detail with drawing three modes of
laying of canalizations.

3 -State and explain the different elements to be taken into consideration in the choice of the conductor in an
over-head transmission line.

4- Explain, by means of a diagram, how can we determine the voltage drop of a single phase transmission
line. Deduce approximateexpressionof the voltage drop in a three phase system. .

B -Problem:

A three phase electric installation with a power factor of 0,82, delivered by a cable of length 5 Km,
having three wires made of copper having kilometric resistance per wire of 0, 11Q/km, and an

kilometric inductive reactance per wire of 0,3 Q/km. The receiving voltage between two phases is
10 KV when the current intensity is 200 A. Calculate:

1) The following power at the receiving end: apparent, active and reactive power.
2) The voltage at the sending end.

3) The following power at the sending end: apparent, active and reactive power.
4) The efficiency of the line.
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